
 

��� = �� ∙ cos	
� = 9000 ∙ cos	30� = 7794	� 

��� = �� ∙ sen	α� = 9000 ∙ sen	30� = 4500	� 

��
�
�� ��� = 0 → ��� − ��� = 0 → ��� = ��� → ��� = 7794	�
��� = 0 → ��� − �! − ���+�#� = 0 → ��� − 4000 − 4500+�#� = 0 → 	$%$&'&()*+%� → ��� = 4611	�

�.� = 0 → �! ∙ 1 + ��� ∙ 3 − �#� ∙ 4,5 = 0 → �#� ∙ 4,5 = 4000 ∙ 1 + 4500 ∙ 3 → �#� = 3889	�
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��
�
�� ��� = 0
��� = 0 → ��� − �! − ��+�#� = 0 → ��� − 7000 − 4000+�#� = 0 → 	$%$&'&()*+%� → ��� = 6333	�
�.� = 0 → �! ∙ 1 + �� ∙ 3 +. − �#� ∙ 4,5 = 0 → �#� ∙ 4,5 = 7000 ∙ 1 + 4000 ∙ 3 + 2000 → �#� = 4667	�

1 

 

  



 

��
�
�� ��� = 0
��� = 0 → ��� − �! − ��+�#� = 0 → ��� − 7000 − 2000+�#� = 0 → 	$%$&'&()*+%� → ��� = −3200	�
�.� = 0 → �! ∙ 7 + �� ∙ 3 + . − �#� ∙ 5 = 0 → �#� ∙ 5 = 7000 ∙ 7 + 2000 ∙ 3 + 6000 → �#� = 12200	�
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VEDI SOLUZIONE SVOLTA IN CLASSE …. 

 

  



 

La formula è: 

3 = 1644 ∙ 	56 − +6� = 1644 ∙ 	806 − 686� = 1186468	776 

8 = � ∙ 9:48 ∙ ; ∙ 3 → 8 = 7000� ∙ 	3000	77�:
48 ∙ 206000 <

==> ∙ 1186468	776	 = 16,11	77 

  



 

��
�
�� ��� = 0

��� = 0 → ��� = 0 → ��� = 0	�
�.� = 0 → . +.� = 0 → 40	�7 +.� = 0 → .� = −40	�7

1 

3 = 112 9?&%6 → 3 = 112206 = 13333	776 

8 = . ∙ 9�2 ∙ ; ∙ 3 → 1600 ∙ 9 = 40000	�77 ∙ 9�
2 ∙ 206000 <

==> ∙ 13333	776 → 9 =
2 ∙ 206000 <

==> ∙ 13333	776600 ∙ 40000	�77 = 228,9	77 


